POSITION VS. TIME GIZMO ASSESSMENT QUESTIONS

1. Which of the following graphs indicates that one of runners started 10 meters ahead of the other?
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2. In which of the following graphs are both runners moving at the same velocity?
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Which of the following velocity-time graphs matches the position-time graph shown below?

g 40
E
E 30
g
t
2
E 20
g
g
£ 10
]
(=1
1 2 Tim?;[sscond‘él

g 100 5 100

& 5 &

g = :

g © g
® 40 ® 40
i x L
2 o —1 -

] 1 z 3 4 3 1 z - I—
= —20 s =20
= =

=40 =40

=E&0 -&0

—80 -g0

_Lm _m

Tirme (Seconds) Time (seconds)

E 100 i 100

g § o

P e C E e D
& 40 ® 40
ﬁ o0 ﬁ 20 e
z L] E @

2 1 2 1 4+ % 1 2 3 4
= —20 s -20
- =

—40 —a0

= -0

=50 —g0

- 100 - 100

Tima (soconds) Tima (soconds)

Which sentence best describes the runner whose velocity-time graph is shown below?
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The runner ran forward for 2 seconds, and then ran backward for 2 more seconds.

The runner ran forward for 4 seconds — slowly for the first 2 seconds, then more quickly for the last 2 seconds.
The runner ran forward for 4 seconds — quickly for the first 2 seconds, then more slowly for the last 2 seconds.
The runner stood still for 2 seconds, and then moved suddenly, and then stood still again for 2 more seconds.



